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INSTRUCTIONS TO THE CANDIDATES

The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

[llustration:

1. Thesum of 20 and 12 is

(@) 32 (b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

3 1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Incidence of carrying of calculator/mobile/any
electronic  device/objectionable material will be
treated as unfair means case.

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.
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Isoniazid (INH) is used for
treatment of tuberculosis
because it inhibits synthesis
of .

a) Mycophilia

b) Mycolipids

¢) Mycolic Nitrogenous bases
d) Mycolic acids

Rifampicin inhibits
a) DdRP

b) 40S Ribosome- membrane
interaction

c) tRNA synthetase
d) RdRP

Active form of remdesivir inhibits

a) DARP

b) 40S Ribosome- membrane
interaction

c) tRNA synthetase
d) RdRP

In phosphogluconate pathway

the rate controlling enzyme is

a) 6-phosphogluconolactonase

b) glucose 6-phosphate dehydrogenase
c) 6-phosphogluconate dehydrogenase
d) transketolase
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Indole-3-acetaldoxime (IAOx) AT &,
A gl aTel ST &

a) purl 3N pur2

b) murl IR mur2

c) furl 3-/77fur2

d) surl FIN sur2
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a) egt SiTeT

b) fgt ST

c) agt ST

d) rgt SieT

Raw

Indol-3-ylpyruvate is formed
during

a) Guanine metabolism

b) Tryptophan metabolism
¢) Histidine Metabolism

d) Adenine Metabolism

Polar targeting of PIN proteins is
an important control element in
the regulation of

a) auxins

b) gibberellins

c) abscisic acid

d) cytokinins

In Indole-3-acetaldoxime (IAOx)
pathway, the genes that are
involved are

a) purl and pur2

b) murl and mur2

c) furl and fur2

d) surl and sur2

The granulovirus of insects uses
the reverse strategy by
preventing the molting and
pupation by using the

a) the egt gene

b) the fgt gene

c) the agt gene

d) the rgt gene
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a) SITHSTAT
b) THUHSIUT
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d) THUHIRTAT (- ¥3)
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In A. thaliana, cytokinin signals
are perceived via

cytokinin receptor types

a) One

b) Three

c) Five

d) Seven

Brassinoids, are plant hormones
that are similar to the
mammalian steroids. These
stimulate primarily

a) cell elongation

b) Cell division

c) Cell death

d) Cell wall strengthening

Baculo viruses have as
their genetic material

a) dsDNA

b) ssDNA

c) ssRNA (+ strand)

d) ssRNA (- strand)

12 The order in which pyrimidines

are synthesized in human cells is

a) Uridine -> Thymidine ->
Cytidine

b) Thymidine -> Uridine ->
Cytidine

c) Cytidine-> Thymidine ->Uridine

d) Thymidine -> Cytidine ->
Uridine
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vasodilators
Vasoconstrictors
Pro-coagulants
Endocrine hormones
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The mammalian FASI enzymes
are incapable of introducing
double bonds at carbon atoms
beyond

a) C-9

b) C-11

c) C-13

d) C-15

Prostaglandins are powerful,
locally-acting

a) vasodilators

b) Vasoconstrictors

c) Pro-coagulants

d) Endocrine hormones

is an example of a
polyunsaturated omega-6 fatty
acid
a) Arachidonic acid
b) Thromboxane
c) Alpha linolenic acid
d) Palmitic acid

To calculate the BLOSUM Matrix
a lambda factor is used for

a) normalisation

b) scaling

c¢) Information Reduction
d) principalization
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The scoring information of
PAMZ200 is comparableto
a) BLOSUM®62

b) BLOSUMS58

c) BLOSUM54

d) BLOSUMS50

sequential structure alignment

program (SSAP) is an example of
type of program

a) static

b) sequential

c) knowledge based

d) dynamic

According to Emanual Margoliash

genetic equidistance means

a) Being equidistance in time

b) Being equidistance on
chromosome

c) Being equidistance from
function

d) Being equidistance form the
structure

The neutral theory of molecular
evolution, which predicted a
molecular clock was given by

a) Hashimoto Fujiochi

b) Tetsuya Kitaguchi

c) Nagomo Tojo

d) Moto Kimura
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Entry of enveloped viruses into
its host cells is mediated by:

a) Only endocytosis

b) Both endocytosis and
phagocytosis

c) Both endocytosis and
membrane fusion

d) Only pinocytosis

In an experiment peritoneal
macrophages were isolated from
strain A of guinea pig. These cells
were then incubated with an
antigen. After the antigen pulsed
macrophages processed the
antigen and presented it on their
surface, these were mixed with T
cells from (l) strain A or (ii) strain
B (a different strain of guinea pig)
or (iii) F1 progeny of strain AXB. T
cell proliferation was measured
in response to antigen pulsed

macrophages. T cells of which
strain of guinea pig will be

activated?

a) Strain A only
b) Strain B only
c) Strain A and F1 progeny
d) Strain B and F1 progeny
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€) 6.142 x 108 SoIFCloT 3TALT
d) 6.214 x 108 Solaelel 3T

25 U1 Y SHSAT ()
a)J). K. vi molt
b) J. K. V1. mol?
c) Vi mol?
d)J. V1. mol?

g2 26 3 27 & foT

T grafshareiier gomel & Ui
3R 3fAF et A e

23

24

25

The theory of bacterial
endosymbiosis was given by
a) Margulis Lynn

b) Carl Woese

c) Herbet Spencer

d) Kandler Sagan

1 Coulomb is equal to
a) 6.241 x 10*8 electron charges

b) 6.421 x 108 electron charges
c) 6.142 x 10* electron charges
d) 6.214 x 108 electron charges

The Units of Faraday (F) is
a)J). K. vi molt

b) J. K. V. mol™

c) V1. mol?

d) J. V1. mol?

For questions 26 and 27

The enthalpy and entropy of the initial
and final states of a reacting system are
shown in the table below.

H S
Initial State 54000 22
Final State 60000 43

3R weerdy § A & S arferer &
fe@mrar ar=ar gl

H S
uRiE 54000 22
e
E T pat 60000 43
g
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gfafssar & fow deidt A aRad

IR e A aRadas . &
a) 6000, 20
b) 6000, 21
c) 4500, 20
d) 4500, 21

g &
a)140 /AT
b) 160 SI/HTT

c) 180 Si/AT
d) 210 /AT

ST 18 ATH g% &I 100 Al gAY
# e Srar § 3R g &7 60

33y Afcaaw W ST @1 A1dr g,

ar faege &7 AleRar &1 giar gl

a) 44.44
b) 55.55
c) 56.66
d) 15.26

Uil # O-H HgHANSTeh FU=T g
_ ¥

a) 0.958 TITECIH

b) 0.969 TITESTH

¢) 0.975 TIRESIH

d) 0.983 TITEETH

3eHhIthles JHEITA )
R §

a)3Tadeh df3hl cdeh

b) eldeRleTol #IIA Hcdeh

c) €T 3MTRA dfAeT sicas
d) B8 BRAS =T Acdsh
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The change in enthalpy and
change in entropy for the
reaction are

a) 6000, 20

b) 6000, 21

c) 4500, 20

d) 4500, 21

The change in free energy for the
reaction when the temperature
is4°Cis

a) 140 J/mol

b) 160 J/mol

c) 180 J/mol

d) 210 J/mol

What is the molarity of solution
when 18gm of ice is mixed in 100
ml of water and the solution is
maintained at 60 degree celcius.
a) 44.44

b) 55.55

c) 56.66

d) 15.26

The O —H covalent bond
distance in wateris
a) 0.958 Angstrom
b) 0.969 Angstrom
c¢) 0.975 Angstrom
d) 0.983 Angstrom

AlphaFold program is based on

a) Recurrent Neural Network

b) Convolutional Neural Network

c) Attention Based Neural
Network

d) Feed Forward Neural Network
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b) faelT WX YHR

c) el &1 drgar

d) ool 1 3UTias aR

afe wifds g & fow 9% 3.75
g, a o Sse ¥ Ugd 3R 91g
H 0.100 TH HifFs TAS 3R 0.100
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5.00 TH NaOH % 1.00 THUS |
a) 3.69, 10.7
b) 3.79, 11.7
c) 3.89, 12.7
d) 3.99, 13.7

SFERNAThST AT dehioddh
FollfaidT dFeX § Sf  HASE 3TAT
____kbde giFafad X &t &-

a) 16 KB
b) 17 KB
c) 18 KB
d) 19 KB
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a)P=1—(1—f)"
b)P=1—(1—f)
)P=1—(1—-f)N
d)P=N-(1-f)N
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Colligative properties are the
properties that depend upon

a) Chemical structure of solutes
b) Charges on the solutes

c) Concentration of the solutes
d) Molecular weight of solutes

If pK for formic acid is 3.75,
please calculate the pHofa 1l
solution containing 0.100 M
formic acid and 0.100 M sodium
formate before and after the
addition of 1.00 mL of 5.00 M
NaOH.

a) 3.69, 10.7
b) 3.79, 11.7
c) 3.89,12.7
d) 3.99, 13.7

Bacteriophage A is an alternative
cloning vector that can accom-
modate DNA inserts up to

kb

The probability P that a set of N
clones contains a fragment that
constitutes a fraction f, in bp, of
the organism’s genome is
a)p=1-(1-f)N
byp=1-(1-f) N
c)P=1-(1-f)N
dP=N-(1-f)N
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a)mﬂm

b) 10 TATATST I[=T

c) 100 fAferEaT T

d) 10 31L& ITeAT

10% (1/10) T 3Mgfd & ATy
SAHEAT # G Al H ST
g & 3R 3w g enewA
aEd (VEEAR) enfder g &
et ol @ W e g §
T argfar & |1 gar & 5% (1/20),
dd

aIgdT STel aTel W3l hl IT J&AT
a) 1-6 base pairs

b) 2-7 base pairs

c) 3-8 base pairs

d) 4-9 base pairs

HARIF & § FNAT arae, 5 a
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a) fAerf@sr & fr T

b) [derfA=r & & e

c) faerf@a g i ey

d) faeif@ar T &r FHAr
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Twenty cycles of PCR increase
the amount of the target
sequence around

a) million fold

b)10 million fold

c) 100 million fold

d) 10 billion fold

Tandemly repeated DNA
sequences occur throughout the
human occurs in the population
with a frequency of 10% (1/10),
and a pair genome and include
short tandem repeats (STRs),
which contain of alleles at a
second site occurs with a
frequency of 5% (1/20), then
variable numbers of repeating
segments of

a) 1-6 base pairs

b) 2-7 base pairs

c) 3-8 base pairs

d) 4-9 base pairs

The genetically modified rice,
which is named “golden rice”,
should help alleviate

a) Vitamin K deficiency

b) Vitamin D deficiency

c) Vitamin E deficiency

d) Vitamin A deficiency
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a)mﬁé—s"f—XI

b) X I TS ARG

c) TrH-eiers UgAlolehITSECIthT

d) g-Terefifaar

o Y 2Meg

1839 &,
T
S ECENIGRE]
b) Tl Faifoa’
c)'\t\?gﬁ gﬁ?ﬁ?r
d) gdfc TIE

Aeifaf@a # 4 fog =T vias

I HTUTTdh GeIATT 147 BIM?
a) Trp
b) Phe
c) His
d) Tyr

3 T A
STHSIITII T ATET 8l &

a) Trp
b) Phe
c) His

d) Tyr

TCITAANT ATHE Ueh Z[SUTCISS
olell TATTIT H Ueh AT
foTar g1 ST A §

a) Glu—Cys—-Gly

b) Glu—Met—Cys

¢) Glu—Ser—Met
d) Glu—Thr—Cys
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The first documented success of
gene therapy in humans occurred
in children with a form of

a) SCID-X1

b) Leber’s congenital amaurosis
c) X-linked adrenoleukodystrophy
d) B-thalassemia

In 1839,

term protein

a) Jakob Berzelius
b) Antoine Lavoisier
c) Samuel Huntington
d) Herbet Spencer

coined the

Which among the following
amino acid will have the
molecular mass as 147?
a) Trp
b) Phe
c) His
d) Tyr
amino acid carries an
imidazolium moiety
a) Trp
b) Phe

One tripeptide called glutathione
plays a role in cellular
metabolism. Its sequence is

a) Glu—Cys—Gly

b) Glu—Met—Cys

c) Glu-Ser—Met

d) Glu-Thr—Cys



43 cnﬁ.mg AT F AT FF FA-a 43 Patients with Parkinson’s disease

; are sometimes given L -DOPA
Tel- Feam e © (3,4- (3,4-dihydroxyphenylalanine).

STIgISaIFhidelUcl [oeT) | L-DOPA & What neurotransmitter is

BEICNER R EIG] SarT FlT @ p;cl)-dté)cggAb?y the decarboxylation
. of L- :
T fAfAT g g7 a) GABA
a) s b) GAD
N c) Dopamine
b) d) Acetyl Choline
c) STATATS
NG HEREGIGIES]
44 GEY 997 AT qﬁ’m W 44 The largest known polypeptide
SR chain belongs to the titin, a giant
TS e 3l ¢, T faema protein. Its molecular weight is
Il | ST 3TUTIdeh HR TITHaT g approximately
a) 3000 3T a) 3000 kD
N b) 4000 kD
b) 4000 ¢) 5000 kD
c) 5000 ahar d) 6000 kD
d) 6000 har
45  uh Y& FT 9gieeT I0TH 45 A protein’s sedimentation
Ro] . . . . .

N coefficient (its sedimentation
(PeaTTHRS el 1 9fd o9 Ié Sl velocity per unit of centrifugal
379dIE dc) MHACI 9T TasaT force) is usually expressed
(TH) <Iod fRar Srar g1 I8 SRR S\)/etilge_rlgs (S). This is equal to

a)~ s
3 b) ~10 s
a)~10 s c)~10 s
b) ~10 s d)~10%s
c)~10 s
d) ~1016¢
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g JA ofaTmar a7 &
URfAS Sfiasd §OF 7 B deessd
& AT & fAT Shae 36 3TeET-
37T 3THAT TRAE 1 39rer foRar
AT AT| 376 FAEAT TRAE & fohdr
3TSIT-3elT 10-31dAY U183 hl
fAToT fohar ST Hhar g7

a)4 34

b)3 3R

c)2 34

d) 1319

{sH i, A HefAd
T &

a) Tefl 3o glelera TTT=T

b) @l dfrer &3 =T

c) T8ft cTareyd GIIeT

d) TTeTeees IdeIlcAS A=

FRAHsY TTTAT &I I FHAY
W_ %

a) B a B motif

b) a B a motif,
¢) B hairpin motif
d) Greek key motif

39ehyoT, et 310 RaAT] fAdens
& AT & Tl FellFeidel IMH

CART MU ST 8, &
a) CE

b) DALI

c) Protopedia

d) VAST
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It has been hypothesized that
early life-forms used only eight
different amino acids to build
small peptides. How many
different 10-residue peptides
could be constructed from eight
amino acids?

a) 4 billion

b) 3 billion

c) 2billion

d) 1 billion

Random coil, which refers to

a) all alpha Helix structure

b) all beta strand structure

c) all disordered structure

d) random structural orientation

The most common form of
supersecondary structure is the

a) B a 8 motif

b) a B a motif,

c¢) B hairpin motif
d) Greek key motif

Tool, in which molecules

are represented by connectivity
graphs rather than sets of atomic
coordinates, is

a) CE

b) DALI

c) Protopedia

d) VAST



50 ws 9T & ITd-FaT, 3Ta-Teerur 50 Afolding protein must proceed

= - t5 from a high-energy, high-entropy
e ﬁ ) ’ TR state to a low-energy, low-
3AEAT H 3P Fgal AT sy entropy state. This energy—
So-TeeldT HEET T entropy relationship is called as

a) Folding funnel
ST & b) Phase space
a) Folding funnel c) Hilbert minima
b) Phase space d) Gibb’s surface
c¢) Hilbert minima

d) Gibb’s surface

H?:I:Tfﬁ'l'l?l' fFa1fAfr / Research Methodology

51 afaf@a & @ & ar oy Rare 51 Which of the following is the

e S s most eye catching part of the
il e research report?
arerm fgEar 82 a) Summary
a) Th TR b)) F?or:cclusion

c) Preface

b) forsar d) Glossary of terms
IREGICOI
d) eTsal T AUserdell

52 3AGR W ST & N g 52  Usually which type of questions
[N

Cw is asked during interviews?
?
NG & Halel & S & 2) Close-ended

a) FellsT TSZ
b) Natural
DT ded
. c) Open-ende
o) 3T TEe ) op
d) Tl d) Puzzling
53 @ ad & O i 3934 53 Which of the following completes
o)
o the research process?
.Ehér R Pl &7 a) Research note
a) 3TTHETT e "
b) Report writing
b) Rare or@er
. c) Summary writin
¢) FRT2T AT : yWHEng
N d) Preface writing
d) 9EATAAT ol

14



54 HIETOT 3Tt Taferar sHeh

3 e &

a) [A-3eIHaST=d U & i

b) AUTeTcH® egaen= fafert

o) TN e R

d) IRfAE 3T & b

55 Wa:raé:ag?raﬁﬁmmﬁ%

56

57

a)o_-ITFj\?-TEFFFIé?
b) T W &1 T
c) 37dcliehed &T deh

d) eldr

362 AT fAsueT radiehs gad

HgcaqOT ¢
a)GﬁHﬂ'?Hﬁﬂeﬂff
b) TITIT AT

c) 9THTCT <gdgi}
d) 3THUT & Tk

Teh AT gRomH &r Faaaadar &1

arcay g

a) HcdT9el &THAT
b) derdr

c) [afrsear

d) 39IfeTar
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56

57

Survey research methods come
under

a) Pre-empirical research
methods

b) Descriptive research methods

c) Experimental research
methods

d) Preliminary Research
Methods

The logic of induction is very
much related with

a) The logic of sampling

b) The logic of controlled

variable
c) The logic of observation
d) Deduction

Objective or unbiased
observation is most vital in
a) All walks of life

b) Performing experiments
c) Normal behaviour

d) Research methods

Reliability of a research result
implies its
a) Verifiability

b) Validity
C) Uniqueness

d) Usefulness



58  ChiIP-seq 2eT Td2NUT & fAIT T 58 A completely automated pipe-

& line for ChIP-seq data analysis,
q«\ﬁ 3AG q IE ITE”s L starting from raw sequencing
el 3-10_-I°$¥IUI _iligﬂ a QBT reads is
gidr g a) CRUNCH
a) CRUNCH b) MADAP
b) MADAP c) QuSAR
c) EPD d) ClIP-Seq
d) CIIP-Seq
59 T IATHT SNaTH TAIR2T 2T T 59 A flexible clustering tool for the
5 interpretation of one-
SATEAT & folT T Frdren dimensional genome annotation
3YhI0T data
a) CRUNCH a) CRUNCH
b) MADAP b) MADAP
c) EPD c) EPD
d) ClIP-Seq d) ClIP-Seq
60 =T ganfaal 3 60 provides access
N 5 5 to precomputed sets of
PR ’ ISt i’I & . conserved sequences from
o W W & qﬁ-wﬁa different species and at different
ARG ‘T§7-r YT Har %’I levels of the vertebrate
phylogeny.
a) Newwick Utilities
b) miRortho a) Newwick Utilities
c) PSCS b) miRortho
d) CEGA c) PSCS
d) CEGA
61 H v F9T & 61 includes a
[N
VR 5 knowledgebase with expert
I Ueh AR curation and a software tool for
TFOYURMT 3T o folT Teh HIFedIX gene expression data
ool QMfAeT & a) Bgee
< .
2) Bgee b) V-pipe
b) miRortho €) ASAP
¢) PSCS d) CEGA
d) CEGA

16
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63

64

65

H ACHIAA HUIfrereT

el & T FFPAST Tl &

STHTThAT Tolchid FT Teh oI5

ITUROMT § S 927 AT & Tod

fATeR TehIeRROT, 3oTehr Sg-3eced

IR, 3R AFedIT Feaki &
ATETH T Teh gATEr faaroT|

a) LEMM|
b) mOTUs
c) CRUNCH
d) Bgee

SITASTRT FAHATRIOT
& ®F H Y gl ST &
a) TIehel FAHATHIV]

b) @S THsATRIOT

o

¢) I e eoh AHAThIUT
d) 3EERIYUT STHATRITT
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63

64

65

has a novel concept
of a benchmarking platform of
computational tools for
metagenome composition
assessments that introduces: a
continuous integration of tools,
their multi-objective ranking, and
an effective distribution through
software containers.

a) LEMMI
b) mOTUs
c) CRUNCH
d) Bgee

Probability sampling is also called
as

a) Stratified Sampling

b) Segmented Sampling

c¢) Simple Random Sampling

d) Purposive Sampling

Deliberate sampling is also called
as

a) Stratified Sampling

b) Segmented Sampling

c¢) Simple Random Sampling

d) Purposive Sampling

A naturalistic Observation is
a) Descriptive

b) correlational

c) Empirical

d) Quasi Experimental



66

67

68

69

Ueh hy fagaor

PICT FAHATUT Teh FidTfer facdor

ured aar & Fifd ag | #

JeTecUTGehdl UG i Y

e ©
a) IROTAT T gcFer gfashfa

b) ARUTAT T faeevucHs widsia

c) IROTAT T JuTTellaTd Ffdepia

d) IRUTAT T FeheTeticHs Fidepia

18
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68

69

A case control study is
a) Descriptive

b) Correlational

c) Empirical

d) Quasi Experimental

A field experiment study is
a) Descriptive

b) Correlational

c¢) Empirical

d) Quasi Experimental

Quota sampling attains a
representative distribution as it
is/has

a) random sampling

b) known frame of sampling

c) probabilistic sampling

d) Boltzmann’s Sampling

The term ‘reproducibility’ does

not mean

a) Indirect replication of results

b) Analytic replication of results

c) systemic replication of results
)

d) Conceptual Replication of
results



70 gfe Ry gcar T Judr & 70 I the validity of a

W g it ar ph_enome_non iIs evaluated
using a different set of

Faferal & weh 3rerr §e H1 39T experimental conditions or
eeh fohar SIaT §1 I8 methods. This represents
gyfafaf®cg sar %— a) Indirect replication of results
b) Analytic replication of results
a) IROTAT HI 39TeT QﬁTﬁf c) systemic replication of results
b)qﬁmm‘r T AAYITHF qﬁae_% d) Concleptual Replication of
results
c) IROTAT s JoTel T Ticiepid
d) IRUTHAT & Hehouatlcrs Ffdsid
1 3pT g @aT & a3 8, 71 In the field of biology alone,
afera I 310 oNerRaT 3= over ____ percentage of
N , researchers were unable to
% forsat I o reproduce the findings of
T H AT & other scientists
a) 10% a) 10 %
b) 30% b) 30%
c) 50% c) 50%
d) 70% d) 70%
72 Qmerehci3t Y "afgdr T fhT & & 72 The researchers are forced to
FE" ¥ AT Aoy T orar & “reinvent the wheel” as
: A a) they donot have
ARUES complete access the original
a) 3eTh YT HeT SeT, Weteiol 3R data, protocols, and key
Ersec) omer grHaT doh q:a‘r T8 research materials
aE R > b) biological materials that
: cannot be traced back to their
b) SHfash @l fSieg 37k T Al original source
9 I Ael QST ST Fohell g c) lack of the knowledge or
c) 22T & TEY 9T ¥ TIAVUT, sgreEar tools needed for analyzing,
IR SR ¥ BT 3NEEF AT interpreting and storing the
, data correctly
AT ST T HAT d) errors made in cognitive
d) TATACHS YihaT3it H Fr a8 processes that are due to
aﬁ-q-'r ST safFaeg Qearar ar personal beliefs or perceptions

RO & SHRUT glar & ”



73 ForEel HH g

a) S1e YeeT AEToeh 3T & ol H
HiS[g &1 & ofeheT 3o¢ FgqH

TeY fhaT ST HhaT &1

b) ST Yeel AEToe ST & Teh Yol

H AT ST § oaH s
areafE Yoot Ho AT &

¢) ST AETeSeh SeT & Yol H Yol

FoqafeRre g § A Sore

Haellhed G fRAT ST ThaTT &
d) 39 Yoo IfRes 3T & THh
qel # AT ST § 3R g@r S

geheT §

74 qfSeeor qag e

a) AT Hell T SITEAT sl I
3R H S e & Alsger
faeara gumelr a1 fAcurdr &

qfSe X &

b) SIT Hel T 3o Il & =ATEdT

el T AT ST o REY &
Aller faeary yomel ar fAguidr

$rgfee T &

¢) AT Al I AEAT A I
3RS SR ST e & HAlser
faeard gutrelr a1 fAcyrdr @

qfse gl T &

d) AT HAl I ATEAT A I
TId S S R $r Alser
faeard gumelr a1 facyrdr &

qfSe S1gl T &
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73 Cluster illusion is:

a) when patterns are present
in a pool of random data but
cannot be perceived.

b) when patterns are perceived
in a pool of random data in
which no actual pattern exists

c) when patterns are absent in
a pool of random data and
cannot be observed

d) when patterns are perceived
in a pool of random data and
can be observed.

Confirmation bias is:

a) the unconscious act of
interpreting new evidence in
ways that confirm one's
existing belief system or
theories

b) the conscious act of
interpreting new evidence in
ways that confirm one's
existing belief system or
theories

c) the unconscious act of
interpreting new evidence in
ways that doesnot confirm
one's existing belief system or
theories

d) the conscious act of
interpreting new evidence in

ways that doesnot confirm
one’s existing belief system or
theories



75 QOiféar q‘\aﬁg;rg g 75 Reporting bias is:

a) ST ETAT TIAHTEN 3HIeT TG a) when study participants
. . comprehensively reveal
% 3 TP b STHN information in a study
HEGIT H AR HI A9 & according to their own
T Yohe A & subconscious drivers
b) ST AT TTIHN e T b) when study participants

selectively reveal or suppress

% 319 é|z|5’| SISl & 3"-5””; information in a study
eI H SATAPRT I laleT according to their own
T ¥ Yohe IT ga1d & subconscious drivers
¢) 3T ITCTTT SRAHTN I T c) when study ‘part|C|pants
. « donot selectively reveal or
6 A TR F 3R suppress information in a
eI H SATAPRT I loleT study according to their own
T F Y AT gald el & subconscious drivers
d) ST 37CITT H H0ET oled dTel d Wh?n study participants
‘ . . accidently reveal information
e T & JaLAA Torhi in a study according to their
& TR Il T Uh 3T own subconscious drivers
H SITAFRT Jhe F o
76 I qatgg @ qifsd T A 76 A research suffering from
a) farevor & T fawy a7 3er selection bias:
. . a) choose subjects or data for
T S 8% § Arefeow Tl © analysis that is not properly
b) Arefeod dleh & fa2ewor & randomized
forw fawar ar ser ?:',?r b) choose subjects or data for
c) fagevor & faw fawy ar ser analysis in randomized manner
el Sl 3T §9 & Tadiepd _
Ty c) choose subjects or data for
analysis that is not properly
d) faewor & fow fawy ar ser stratified
?:I’?r.sﬁ & S d) choose subjects or data for
el & analysis that is not properly

stratified

21



77

78

CECICICEIC) g

a) forel Tefay & siga 3maren &
AT glel I ggfd

b) fordly T&ufar & sga 3mameh &
HEEHA @ A g

o) frdr 1 fPufq 1 TodT &7 &
sl & g

d) 9 R A Folol T ggfa

RIS AT Agcaglel RO &
RO ol alel ETTeAl T FHal
Raiféer a7 &t &2

a) AT TEqd et A1TTaT

AT

b) FSieTel &THACT H FUR Tl &
¢) 3cUTeshdl # FUR

d) 3cUTGehdl &H &L T &
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77

78

The bandwagon effect is

a) the tendency to agree with
a position too easily

b) the tendency to disagree
with a position too easily

c) the tendency to speak one’s
position freely

d) the tendency to listen to
every body

Under-reporting of studies
that yield results deemed
disappointing or insignificant
causes

a) Lack of reproducibility

b) improves reproducibility

c) improves productivity

d) reduces productivity



79 3T 3iefeld & fov T

gfaeaet #|la 3R &dn

g

a) AMLHATIHT T 3THT & ATLTHA 4
I 970 foaRor & Raiféar @r
HfAT == & v gicarfed s
ST TAEN T SR A T FHIH
A g

b) AMERATIT I 3T & HIEIH
T 9@ v {AaRoi i Raiféar Fir
AfFT FET ™ & v dicarfga
FAT ST JAET A g e
HIH P &

¢) 3THT & HILIH ¥ €W T
faaront fr RaiféEar = HfFa s
& TIT MYt & dicared
FLAT S TN & el T &

d) ANETHATIHT Y 3T & ATETH
T 9 v fqaRoi S Raifear #r
AT F6 e & v dicafea
HLAT S T F gEal S &
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79

A competitive environment for

research grants often

a) incentivize researchers to
limit reporting of details
learned through experience
that make experiments work
better

b) incentivize researchers to
not limit reporting of details
learned through experience
that make experiments work
better

c) incentivize researchers to
limit reporting of details
learned through experience
that make experiments work
worse

d) incentivize researchers to
not limit reporting of details
learned through experience
that make experiments work
worse



80

81

82

83 e o # g4+ ¥ U A

Ifg il eTae q® A 4
ggel gEAIfad Il 3reggel

(FTScehior |fgd) @l Tgo & Golieh

L §, df ST FIAT o &2

a) Ig T Tfshar & T M
T FGHTAgdeh STd T 3T
gam

b) g ThRIcHS IRUTAT & SHeT
I FIcHTgd M|

c)wwmaﬁﬁaﬁ

Ca) guﬁ H HACE LM

d) Ig gROmAT & Ude W H Heg

T
e @7 7T g

a) 3ifehd Hed W R fhw 1w
CRIGE

b) TAHT Hed W T

c) arerd {TeAlcHS Hed X §Te

d) CHIgARS dog T FeHT

Teh dlfeheh R EF-HId HAISS I

& ¥ H o Fgr ST §

a) fagend

b) IRF AT

c)??i?r

d) 9

3
a) 3cr & fagevor

b) ReErier
c) a1fgca
d)aaaﬁ%n?r T
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81

82

83

If scientists pre-register
proposed scientific studies
(including the approach) prior
to initiation of the study

a) it would allow careful
scrutiny of all parts of the
research process

b) it would encourage the
suppression of negative
results.

c) it would help MNCs steal the
ideas

d) It would help patenting of
results

Datum means

a) statements accepted at face
value

b) Statements at place value

c) Statement at syntactical value

d) Statement at alphaNumerical
value

A logical and self consistent
model is also called as

a) Theory

b) Hypothesis

c) Datum

d) Propaganda

Conceptual framework does
include one of these

a) Analysis of data

b) Theory

c) Literature

d) Research question



84 gfe Py AT ATRT T

85

86

IfFIA IR W F 39 YR LT
ST bl & T THAT W arel Fi5
i ar &1 Th HAT A1 oF Y ar
SH_ FEdE

a) IR T IRedar

b) IR @1 faramemmd

) IR W JAT

d) IR T faar

39 dOIRe & &l AT &7 g
fSae eer foRar sirar &2

a) 3THYUT ARFTAT

b) TTEEITT T HINTRT
c)ﬁﬂﬁ%ﬂﬁm

d) 31THYTeT f3airgeT

fAefafaa & @ sl @ faQwar

IUTcHS MET H HAgedqul A STl

g?

a) HIeTehlehcl 3eTHETeT 3UHION hl
HERIAT ¥ 3T Uhd HleT|

b) FHTSHAT FAHAT dAehellhl & HTY
EEIEGEEoicaul

¢) T ¥ IR & IHJHad TeT
& HTY 3¢T Thd hlaT|

d) S9-313eT JISTATICY A& & AT

3¢ Thd HlaT|
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86

If any planar map can be
coloured with at most four
colours in a way that no two
regions with the same colour
share a border

a) Four colour Hypothesis

b) Four colour paradox

c) Four colour theorem

d) Four colour idea

What is the name of conceptual
frame work in which the research
is carried out?

a) Research hypothesis
b) Synopsis of Research
c) Research paradigm
d) Research design

Which of the following features
are considered as critical in
qualitative research?

a) Collecting data with the
help of standardized
research tools.

b) Design sampling with
probability sample
techniques.

c) Collecting data with
bottom-up empirical
evidence.

d) Gathering data with top-
down schematic evidence.



87 U QMY YHIET HEATeA ol

88

89

gTdaT & T & foav gafaa
$RPT & IRUMH T IdT oMl Hl
el IWdT gl 39 3e9d & fov
it AT eMer geufd A Iugeard
ghaf?

a) auTTcHs gdefur fafer

b) UfagTiaes fafer

c) AT fafer

d) grafaes fafer

Rt o T wgar __ a@r ¢

a) ATEfTEeh 37ehl T dTferehr

b) THeATROT faferal & g
drfershr

¢) FITETRIT S # Ykl AT

d) TR Wl T dTferehr

3THUTS & 3T doe & T,
ffafaa & & fhaedr ager
HTGLIHAT glar g?

a) Teh oMY f3iesT faspfad e
b) Ueh M YT AR FIAT

c) 3T TANUT YfshaT & IR H

Ao o=
d) Teh MY IRFeTAT IR HLAT
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A research intends to explore the
result of possible factors for the
organization of effective mid-day
meal interventions. Which
research method will be most
appropriate for this study?

a) Descriptive survey method
b) Historical method

c) Ex-post facto method

d) Experimental method

Tippit table does not refers to

a) Table of random digits

b) The table used in sampling
methods

c) The table used in statistical
investigations

d) Table of stratified layers

In order to pursue the research,

which of the following is priorly

required?

a) Developing a research design

b) Formulating a research
question

c) Deciding about the data
analysis procedure

d) Formulating a research
hypothesis



90

91

92

NEAT oGeT 7 IFa

e g

a) ensSr gfafaffica &1 g

b) T TF/ G AR AT

c) U Qe TAaer

d) Teh SRIRITAT/HER T T T
LT

S

f=fef@a & @ aia ar Fa=

e T & Hedl H AT

g7

a) Jg el &I ATFT b FT H
qgTeIdT §

b) TE ST H TF WIS URHAT ¥

c) Tg RN I VAT &F T H
HAged &l ©

d) SGhT THATT 3carT Al I
3cdIee §

a i Ir Tufaar § & ez
Ffe g1 &2
a) YT IRFHEIATT ITAd glet I 8

PR & FT &
b) e IRFTAT T Blel W N

gIiist g Sl &

¢) YT IR FeI gt I ol
TR Hr AT &

d) 372 IRFEIATT 3T gl T
afr 3rEdeh g S &
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92

The format of thesis writing is

the same as in

a) Writing of Seminar
representation

b) Preparation of research
paper/article

c) A research dissertation

d) Presenting a
workshop/conference paper

Which one among the following
statements is false in the context
of participatory research?

a) It recognizes knowledge as
power

b) It is a collective process of
inquiry

c) It emphasizes people as
experts

d) Its sole purpose is the
production of knowledge

What are the conditions in which

Type-| error occurs?

a) The null hypotheses get
accepted even if it is false

b) The null hypotheses get
rejected even if it is true

c) The null hypotheses get
accepted even if it is true

d) The null hypotheses get
rejected even if it is false



93 eIded ITHYN TfSeehivr areca & 93

94

95

96

froa wefea &2
a)mﬁﬂ?ﬁ?ﬂﬁ

b) 3TeTehITeIeh JTHENT

c) &ifdsT 3reTaeTst

d) dad AR Aot sregaer

PR & & Pl rdenT

AT & 3787 A& 82
a) 3THYT fATShar =181 &
b) 3TTHYTST ST &

¢) AT HATA-3-HT 61 &

d) T Teh UfshaT 8T &

Teh Meharl Tl &aF #F oy 3w

TSI deh aof el GHTIATIT &1

ETTT T H SR T@ar g an,

39 IETTT & [T ST a1 3uRIoT

G hielT ATEU?
a) I Thet

b) HT&TTch X

c) IL=ATdell

d) 3Tl

94

95

fra g & My & fAseul/fasesf 96
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What does the longitudinal
research approach actually deal
with?

a) Long-term research
b) Short-term research
c) Horizontal research
d) Vertical and diagonal Research

Which of the following does not

correspond to characteristics of

research?

a) Research is not passive

b) Research is systematic

c) Research is not a problem-
oriented

d) Research is not a process

A researcher is interested in
studying the prospects of a
particular political party in an
urban area. So, what tool should
he prefer for the study?

a) Rating Scale
b) Interview

c) Questionnaire
d) Schedule

The conclusions/findings of
which type of research cannot be
generalized to other situations?

a) Casual Comparative Research
b) Historical Research

c) Descriptive Research

d) Experimental Research



97 ferdr o1 oMy I IEAUS HI HE

98

99

100

HTeh?

Mer Mk ganT

T Al & 3TAR
JHUTT 3ERAT SaRT

d

)
b)

c

o6l &?

a) Tsh gdefor

b) Cfderiaeh
C)W
SHANIGED

g 3Tl ST J1eT

Jeiid ey o Tov foRam Srar §
a) Uesh AT 3T AR I g R

gaferd g?

b) AfFeT I97 5T PR THT F9

T AT A 872

c) Uk qUT g qUT @ fhd YR

Tafd g?

d) faffest s 9o & ¥ Feated

87

"THATIUT HATHA" &l $H ThR

aRenSd fohar ST erdT &
a) STHGAT SHH FT 3TANT Hleh
AHATOT

a

b) 3THYUT & AT Iugerd eI

dedlal nxdl

c) TECT: Meehcll T HIGTCT AHST

d) ST, FATIR 931, Cellfdstel
HIRIHAT 3TTE T FHATI

)
d) THUH R Fel TF ZgRT
ef@a & O Fia arer $r [
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99

100

How to judge the depth of any

research?

a) By research title

b) By research duration

c) By research objectives

d) By total expenditure on
research

Which of the following is not the
method of Research?

a) Survey

b) Historical

c) Observation
d) Philosophical

Circle graphs are used to show

a) How is one part related to
other parts?

b) How various sections share in
the whole?

c) How is one whole related to
another whole?

d) How are various parts related
to the whole?

"Sampling Cases" can be defined
as

a) Sampling using a sampling
frame

b) Identifying people who are
suitable for research

c) Literally the researcher's brief
case

d) A sampling of people,

newspapers, television programs

etc.
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